e G lo—s TEB = Phép nhan cac da thirc

Tén:_ Ngaythang:_ Piém:__
(8+ 9x)(4x — 8) 2 50)(8x+9)
(5— 4x)(4x + 6) (6x— 8)(7x +2)
(2% — T)(4x + 3) (2% — 9x — 9)(8x + 1)
(2% + 8)(x + 1) (4x + 5)(2x — 2)
(4- 52 (9x + 5) (6x + 8)(9x* — 9x — 9)
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o oo fo—o T =

Phép nhan cac da thuc

Tén:

(8 + 9x)(4x — 8)
36x% — 40x — 64

(5 — 4x)(4x + 6)
—16x% — 4x + 30

(2% — 7)(4x + 3)
8 + 6% — 28x — 21

(2% + 8)(x+ 1)
20 + 2% +8x+ 8

(4— 52 (9x + 5)
—45x> — 25x% + 36x + 20

Ngay thang: _ Diém: _

(2—5x)(8x+9)
—40x% — 29x + 18

(6x— 8)(7x+2)
02x° — 44x— 16

(22 — 9x — 9)(8x + 1)
163> — 70x* — 81x— 9

(4x + 5)(2x—2)
8x” + 2x— 10

(6x + 8)(9x% — 9x— 9)
54x° + 18x% — 126x— 72
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